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L.04 Exercisel-3

1. | £t (conjunction)... » #P(adv.)... | No matter.......

Under any condition, there consequce is all the same.

<> In this grammar,we should use #£/& rather than ZK/E& to form an qustion phrase.

e.g LIt T ENLEFZE AGZNETEER - A=W BeEK -
e.g M EIEHIELI Z AV EFISRIA(E -

Rewrite the sentence:

B2 et AR 2T #H A LB EITRZ A -

BATRE 12 RSEF - FAM ~ FAEHE L -

2. conjunction & therefore --- to connect sequential clauses.

FrLL so --- cause and result

eg BB FAEF  TEERELT =)L
e BANHEWIAR > TEARKFERHEET -
T

o

e.g.

e.g.

P A

e.g.




IC2.1-L4grammar© YenJungChen 2014

3.1Adj./VIEAd/V. > B Z [ {HZE + other information or opinion

This grammar could express speaker 1s agree/ disagree with another speaker’s opinion.
e.g. REWMEITIEEEACEL » (HER(EFzhide -

e. g XN NRLFFE LR AESRARE A E -

» A SLIRPE AR I o
e.g.
e.g.

4. | MEE......(1H) 7

The speaker has his own opinion/answer toward the topic, just using¥f 78| to put more

emphasize on his doubt.
e.g MEIERARB AT 2 (You should know... )
e.g. PRMEEAATEIL ?

e.g. IRERFRIRER - MERLAMN EFERED ?

e.g.

e.g.

e.g.




